L.I. To recall and use multiplication and division facts for the 2, 3, 5 and 10 times tables.  June 2020


	One spider has 8 legs. 
How many legs will 5 spiders have?
8 x 5 = 40  
[bookmark: _GoBack]( Answer 40 legs )


	One spider has 8 legs. 
How many legs will 10 spiders have?

___ x ___ = ____




	There are 7 wheels on one car. 
How many wheels will there be on 3 cars?
___ x ___ = ____



	There are 9 wheels on one car. 
How many wheels will there be on 5 cars?
___ x ___ = ____




	There are 7 days in one week. 
How many days are there in 2 weeks?

_________________________

_________________________

	There are 7 days in one week. 
How many days are there in 3 weeks?

_________________________

_________________________


	There are 10 sweets in a packet. 
How many sweets will be in 9 packets?

_________________________

_________________________

	There are 9 sweets in a packet. 
How many sweets will be in 5 packets?

_________________________

_________________________



	There are 90 chairs. 
They get stacked in piles of 10. 
How many stacks of chairs will there be?
________________________

________________________

	There are 20 chairs. 
They get stacked in piles of 2. 
How many stacks of chairs will there be?
________________________

________________________



	There are 24 buns and 3 children. 
How many buns does each child receive?
________________________

________________________

	There are 40 buns and 5 children. 
How many cakes does each child receive?
________________________

________________________


	There are 18 crayons.
There are shared into 2 baskets.
How many crayons in each basket?

________________________

________________________

	There are 24 crayons.
There are shared into 2 baskets.
How many crayons in each basket?

________________________

________________________





Which has more? 
4 bags of sweets with 5 in each or 3 bags of sweets with 10 in each?  
______________________________________________________
Explain your reasoning in full sentences.

 

            
